	1. 
	678 x 24
	









	
	
	

	2.
	1,846 + 5,989 =
	









	
	
	

	3.
	 50  +     = 20 x 4 
	









	
	
	

	4.
	1/9 x 4 =
	









	
	
	

	5.
	6,433,087 - 2,281,994 =
	









	
	
	

	6.
	64 ÷ 8  =     
	









	
	
	

	7.
	0.7 + 4/10 =
	









	
	
	

	8.
	[bookmark: _GoBack]How many 10p in £7.50?
	









	
	
	

	9.
	681 x 51 =
	









	
	
	

	10.
	5/20 + 1/5 =
	









	
	
	

	11.
	 6% of 600 =
	









	
	
	

	12.
	8 x 100 x 10 =
	









	
	
	



	13. 
	8 - 2 +3 =
	









	
	
	

	14.
	1,000,000 – 500,999 =
	









	
	
	

	15. 
	 6.7 ÷ 100 = 
	









	
	
	

	16. 
	 17 x 4 = 
	









	
	
	

	17.
	3/4 of 28 =
	









	
	
	

	18.
	7.82 X 7 =
	









	
	
	

	19
	1/7 ÷ 1/8 =
	









	
	

	

	20.
	 How many days between January 1st and May the 9th? 

	









	
	
	



